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CC3 Tile Patterns 
1.  Look at the figures below. With your team, find as many ways as possible to describe how the tile pattern is growing. How many tiles would be in the 100th figure? Find as many ways as you can to justify your conclusion.
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2.          Determine the rule for the pattern below.
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3.          Examine this tile pattern and answer the questions below.
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a.        Write a rule that describes this pattern.
b.        Which figure number has 41 squares? Show or explain how you figured it out.
4.          Examine this tile pattern and answer the questions below.
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a.        Draw figures 4 and 5 on your paper.
b.        Describe how the pattern grows and any other patterns you notice.
[bookmark: _GoBack]Bonus: How many squares would figure 100 have? Explain how you know.
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TABLES, GRAPHS, AND RULES
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Problems

Complete each table. Then write a rule relating x and y.

input (x) | 10 20 713 input (x) | 22| 5 | 11 91|12
output (y) [ 14 | 9 —4 (-3 output (y)| 19 | 2 -8 |12
3. 4.
input(x) | 10 | O | 15 71 6 input (x) | 10| -3 | 4 5115
output (y)| 25 | -5 -8 13 output (y) |-30| 9 [-12| -1
5. 6.
input(x) [ -4 | 0 | 12 -16 input (x) | 4 | -6 2 [-12
output (y)[ 0 | 2 —4|1-6]| 6 output ()| 7 | 3| 6 911
7. 8.
input @) | 3 [ O -12( 16| 9 input(x) | 2| 0 | —4 -13
output (y)| 3 | -3 | 13 29 output ()| -5 | 1 —20( 40 |-17
9. 10.
input(x) [ 9 | -6 0 3 (-3 input(x) | 3| -2|-1] 0 1 2
output (y) 2| 4 1 output ()| -7 (-4 |-1| 2| 5| 8
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11. 12.
mmput@) | 6 |-4|-2|0 2 4 X input (x) | 2| -1| 0 1 2 3 X
output(y)| 1 | 2 | 3 [ 4| 5|6 output (M| 5 [ 2| 1 | 2] 5|10
Complete a table for each rule, then graph and connect the points. For each rule, start with a

table like the one below.

iputey | 3 | 2| 1o | 1] 2] 3
owpu | || [ [ | ]

13, y=3x-2 4. y=1lx+1 15, y=-x+2 16. y=x*-6
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